SM%]& h‘jpoj«:lf\asz’s — Sziwa:}@ FWQmeLLa’()’

G .= O — Special

B = a
Nl oo P J / cose
: ~ o
Alkesrnative H, F& 7 I — xwo-tailed Eest
> or < 0 oove- tailed
Les
| /N
Tock s%a{’mf'(} 0y » _ F} _ @(},
o K t est

+ fo’mé/'o se (Tg\J>






E,ci/(,,’va’/m% de cl sim >ule ?f@(}fc:b Ho 1‘7&

A
@} « beymd a%(%) Fron P,

|

AV
C;ow\{,d@wa?_ = P (vxo)c }/e&'. j L{o vaoe)
’6\/6,| J—'o






NBASAL

sts + W
4 )3 Vo"”"‘)“ + Fl’b/@{)oomdf + FB QA.SSIS
(/\/Cvﬁ/c = r'o |

Ho B =0

£ 0
H F\ R
P 7oz = 819
e 56
Eest _ge(f%> l

[ < 0.05

- 1.02



H FI 7 /0
p - R 70 = o
test /’;—d’ Z
se (F]> ({’f:esb\ @I.Qé

/7
> 770 s im CT
\ (3—-\/CJU€ > 0 05

= 2L X0-1{]

Fail to 'B’@Oi. Ho

= 0,3’311



